
 
1

電路學(EE2210)第十次隨堂考 
2015年6月3日 
時間：20 分鐘 

Close Book 

 
學號：___________________________________ 

 
姓名：___________________________________ 

 
Find the sinusoidal steady state vo(t) for the following circuit by  
(a) covert the vi(t) in time domain into the frequency domain Vi, 
(b) find the transfer function H(j) in the frequency domain,  
(c) find the numerical value of the H(j) by plugging the frequency  given in the figure, 
(d) find the Vo in the frequency domain from (a) and (c),  
(e) convert the Vo in the frequency domain into vo(t) in time domain.  
(Assuming L = 2 mH, R = 2 k, C = 0.2 μF, and vi(t) = 5cos(100t) + 1cos(50000t) V.) 
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(a) Vi (at ω = 100rads/sec) =                                                                                                                      ,  

 
Vi (at ω = 50000rads/sec) =                                                                                                                  , 

 
 
(b) )( jH                                                                                                                                                , 
 
(c)   HH )( j  

 where H  (at ω = 100rads/sec) =                                                                                                   ,  

 
   H  (at ω = 50000rads/sec) =                                                                                               , 

 
 and    (at ω = 100rads/sec)  =                                                                                                    , 
  
     (at ω = 50000rads/sec)  =                                                                                                    , 
 
(d) Vo (at ω = 100rads/sec) =                                                                                                                    ,  

 
Vo (at ω = 50000rads/sec) =                                                                                                                , 

  
 
(e) vo(t) =                                                                                                                                                   . 
 
 
 
 


